ALGEBRAIC FRACTIONS

Simplifying Algebraic Fractions

) . ion undefined?
For what value or values of xis the rational expression x — 14
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Simplify, if possible.
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42. Write an explanation of how to determine the values of th i
- ble for y.'hich a rational expression is undefined. Give o van
of a rational expression that is always defined and a an example
rational expression that is undefined for certain vallurelse())cfl l:}lygliaofaabl
riable.



43. The arca of a certain rectang

its length by x = 1. Find s widih

le is teprese
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The arca of a certain rectangle is ¢
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width by x —

The volgm? of tljcl Cl‘ll‘n‘ at the right is determined by muliiplying the
area of its square base by its height. The total surface aren of the
cube is determined by multiplying the area of one face by 6

3. Find it lengeth,

45. Find an expression for the volume ot the cube,

46. Find an expression tor the total surtace arca ot the cube,
47. Find the quotient of the total surface area divided by the volume.
i‘.

48. Find the value of the quotient in Excrcise 47 tor ¢

The volume of the right circular cylinder at the right is wrth and

its surface area is 2mwr + 2mrh.

49. Find the quotient of the volume of the eyvlinder div

its surface area.

50. Find the value of the quotient of Exercise 49 torr

Simplify.
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56.

ax — ay + 3x — 3y



